
U.S. Rack, Inc. Truck Cap Rack Parts 
 
Visit	the	Truck	Cap	Rack	page  
 
Truck Cap Rack, Reg Height; truck cap ladder rack 
 
To place an order for parts, please call 1.888.877.2257 
Reference Part Number Description Price/ea

A P2010-2R-A Right Leg, Regular Height, for TRUCK CAP RACK 
Model 2010-2R (x4) 

$25.00

B P2010-2X-B Male Crossbar for TRUCK CAP RACK Model 2010-2R 
(x2) 

$55.00

C P2002-1X-C Female Crossbar for TRUCK CAP RACK Model 2010-
2R (x2) 

$45.00

D P2002-2R-D Left Leg, Regular Height, for TRUCK CAP RACK 
Model 2010-2R (x4) 

$25.00

E P2002-M- 017 Cargo Bumper for TRUCK CAP RACK Model 2002-1S 
(x4) 

$12.00

- (available locally) 5/16-18 x 1.75 ” button head hex cap screws (x10) -

- (available locally) 5/16-18 nylon lock nuts (x10) -

- (available locally) 5 x 2” carriage bolts (x4) -

- (available locally) Plastic knob lock nuts (x4) -

- (available locally) black nylon washers (x10) -

- (available locally) 7/8” OD metal washers (x14) -

- (available locally) Allen wrench for 5/16-18 button head screw (x1) -

- (available locally) Small cable kit including 9’ lengths of cable (x2) -

- (available locally) 3/32” cable clamps (x4) -

 
 



    

 

 
Visit the Truck Cap Rack page  
 
Truck Cap Rack, Tall; truck cap ladder rack 
 
To place an order for parts, please call 1.888.877.2257 

Reference Part Number Description Price/ea

A P2010-2T-A Right Leg, Regular Height, for TRUCK CAP RACK 
Model 2010-2T (x4) 

$30.00

B P2010-2X-B Male Crossbar for TRUCK CAP RACK Model 2010-2T 
(x2) 

$55.00

C P2002-1X-C Female Crossbar for TRUCK CAP RACK Model 2010-
2T (x2) 

$45.00

D P2002-2T-D Left Leg, Regular Height, for TRUCK CAP RACK 
Model 2010-2T (x4) 

$30.00

E P2002-M- 017 Cargo Bumper for TRUCK CAP RACK Model 2010-2T 
(x4) 

$12.00

- (available locally) 5/16-18 x 1.75 ” button head hex cap screws (x10) -

- (available locally) 5/16-18 nylon lock nuts (x10) -

- (available locally) 5 x 2” carriage bolts (x4) -

- (available locally) Plastic knob lock nuts (x4) -

- (available locally) black nylon washers (x10) -

- (available locally) 7/8” OD metal washers (x14) -

- (available locally) Allen wrench for 5/16-18 button head screw (x1) -

- (available locally) Small cable kit including 9’ lengths of cable (x2) -

- (available locally) 3/32” cable clamps (x4) -

 



    

 
 
 
To place an order for parts, please call 1.888.877.2257 



 


